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1 [Pohorelice A 1 3 1 1 1 4 13 1 10 2 1 4 42 11
2|Nedasov 3 1 2 2 5 1 5 6 1 5 2 9 42 17
3[Horni Lhota 15 16 6 3 2 15 3 7 4 3 3 1 78 25
4|Rymice A 5 3 3 6 3 8 2 3 5 4 6 10 58 28
5(Zlin - Lhotka 9 16 10 15 6 15 1 2 2 1 14 2 93 33
6(Zlin - Louky 6 9 7 4 7 6 4 4 6 6 4 3 66 37
7|Staré Mésto A 2 6 10 5 9 15 13 5 3 8 5 5 86 39
8|Zlutava A 4 2 10 9 4 3 13 15 7 12 8 6 93 43
9|Rymice B 7 8 4 11 13 2 6 14 9 15 16 13 118 60
10|Pohofrelice B 8 10 5 7 10 10 13 9 10 7 16 7 112 63
12|Zlin - Malenovice A 11 14 10 10 15 7 10 10 8 13 9 12 129 75
11|Zlin - Prstné 13 7 10 13 16 13 7 15 10 9 11 8 132 75
13|Kyselovice A 15 12 10 8 11 5 13 11 10 16 16 14 141 80
14|Kvasice 10 13 10 17 12 9 13 15 10 16 13 11 149 88
15|Nova Dédina A 15 11 10 14 17 15 13 15 10 10 7 15 152 90
16|Zlutava B 15 16 10 12 8 12 13 15 10 14 16 15 156 94
17|Nivnice 14 16 8 17 17 14 13 15 10 11 10 15 160 95
19|HazZovice 15 16 10 17 17 15 9 8 10 16 16 15 164 98
18|Nova Dédina B 15 5 10 17 17 15 13 15 10 16 16 15 164 98
20|Staré Mésto B 12 16 10 17 17 15 13 15 10 16 12 15 168 102
21(Kyselovice B 15 16 10 17 17 11 13 13 10 16 16 15 169 103
22|Lubna 15 15 10 17 17 15 8 15 10 16 15 15 168 103
23(Sarovy - Salag 15 16 10 17 17 15 13 12 10 16 16 15 172 106
24(Vigantice 15 16 10 17 17 15 11 15 10 16 16 15 173 107
25(Zlin - Malenovice B 15 16 10 17 14 15 13 15 10 16 16 15 172 107
26(Jabllinka 15 16 10 17 17 15 12 15 10 16 16 15 174 108




| 27|valaiska Bystice | 15 | 16 | 9 | 16 | 17 | 15 | 13 | 15 [ 10 | 16 | 16 | 15 | 173 | 108 |




